Precision Lock Nuts / Hook Spanners for Bearing Nuts Bearing Lock Nuts

Square / Hexagon

* End Face M5 and M6 are available for Set Screw only. ()7 dimensions in () are for Stainless Steel Type.

@umering Part Number

Il Precision Lock Nuts A o (®BNGC and BNRC have identification
@ WTmMaterial [Hardness| [3Surface Treatment [Accessory mark "C" on the side of nut.
e ﬁ | BNG BNR EN 1.0038 Equiv. - ) _ Set Screw (EN
‘ BNGC | BNRC | "™ | p_ggrc| Dok Oxide Setpiece | 17220 Equi) /(1)
J N S _ P | BNGS | BNRS [fn1.4301 Equiv B N Set ScreEv;U(S\J'W.ASm
o m G s
o
(®)Tighten the set screw after inserting the set piece. )
05 || @ (®)For Set Piece (SEPNS) Specifications, see : f i\\\
Screw Accuracy L5 PH-212 = \ “\QJ °
Type Perpendicularity Component mMaterial@Hardness B3Surface Treatment 1SO Class 4H . (®EN 1.1191 Equiv. Thermal Refined excels in L | K /
Main Body |EN 1.7220 Equiv] 28~32HRC ] durability. L
PLNY (Standard) Set Sorow o1 7220t 35-40rRG | Black Oxide [RotiS 10} y B ke
PLN (High-Grade) [L]0.002[A° Locking Metal (*) | Phosphor Bronze
* Locking metal is the metal at the tip portion of set screw. Part Number MxPitch D d E B c s m Coarse Thread Unit Price[Fine Thread Unit Price
Part Numb MxPitch = Sioularity [V Tghtering T Nl OricPr Type M Coarse Fine BNG |BNGC/BNGS| BNR |BNRC|BNRS
al umber XPItc erpendiculari ax. lightening forque (N*m) nit Frice 3 M3x0.5 M3x0.35 4
Type M | (Fine) | 2| 9 | B | S | T | M tengrace(Max)  Set Screw PLNY | PLN A Mo T Mhos 115 5 10
8 8x0.75 | 16 | 11 5 | M50.8 | M5 [ 135] 9 | 11 ] >0 | 2 | o0s (WitthIS::tXP:i”ece)
10 10x1.0 | 18 | 18 | o | o oxM4 35 6 | M6x1.0 | M6x0.75 | 145 10 | 12
12 12x1.0 | 20 | 16 (Coarse) 8 | M8x.25 | M8xi.0 | 17 | 13 | 14 | 65 | 4
15 B || 2 | & BNG 10 | MI0x.5 | M100.0 | 20 [16 | 17| o | ,
17 LED A8 A | g | g | 2 2B 45 BNGC 12 | M12x1.75 | M12x1.0 | 22 | 17 | 19
(Standard) 20 20x1.0 | 32 | 27 3xM5 | -PLNY 0.005
PLNY 25 25 1'5 38 | 33 : BNGS 15 - M15x1.0 1 M4x4 - - -
248 16 M16x2.0 - 25 21 22 10 6 (With Set Piece) = o =
(High-Grade) 30 3015 | 45 | 40 | 12 | 5 (Fine) 17 - M17x1.0 - - -
PLN 35 35x1.5 52 | 47 3xM6 | -PLN 0.002 8.0 BNR 20 | M20x25 | M20x1.0 | 35 | 26 | 30 | 13 3
40 40x1.5 | 58 | 52 BNRC 24 | M24x3.0 - w @ | e | E | o M5X5 N N N
45 45x1.5 | 65 | 59 | 14 | 6 | 25 BNRS 25 - M25x1.5 (Wit SetPice) | - - -
50 S0x1.5 | 70 | 64 30 | M30:35 | Msoxi5 | 39 [ 40 | | |,
2 ol B % 57 |3 X8 180 35 M35x1.5 43 | 4 Mexe | - | - | -
M 40 = M40x1.5 53 48 49 o5 16 (With Set Piece) - - -
lﬂ ordering |Part Number 50 M50x15 | 66 | 61 | 63 - - -
Example PLNY8 lHex Type Type B(’:\log;\sne B’:i;z %]m;zr@l [Hardness|E3Surtace Treatment BAccessory ®E§vsfg’ r%ﬁ:g"? dgrr:tdi fi“;?iig
i quivi - : Set Pi Set Screw (EN groove in front.
%e;ewew ~ |BNSCC|™ ™ | o pare|  DockOkde | NG e | 17220Equiv) (®EN 1.1191 Equiv. Thermal
- N Alloy) [ Setscrew &N 14301 Refined excels in durability.
lHook Spanners for Bearing Nuts Smgms gmggs :: 1;‘22: Eq::: - P
Serew s»mbms ‘W?ma\‘ Black Oxide Hex Socket Screw (EN 1.7220
MFK L ) Tyoe - BNBSC | "™ | 20~24HRC Equiv.) @/( g/ )
BNBMS |BNBSS [eN 1.4305 Equiv, - - Hex Socket Screw (EN 1.4301 Equiv.)
¢ SetScrew . e ScrewType v . €)
(O . 1] - i
o | | i
) S )t / l 1 =
| % A -
— I 1T [ 7 1) [0 Material: Chrome Vanadium Steel —T_ b/2 bi/2 " L\
! ! ‘ 2
. " o D 2-Mi '
m:m (®For No. 30 or smaller sizes, there are no tabs on R1 part. 3 Surface Teatment:Cathodic Eecrodeposion it > J_)» b1 M.
Part Number N Round Nut /| Unit Price  Volume Discount Rate B L B1
Tvpe D Ri1 R2 B © 0 T H L | shaftDia. |g2onto'Nut| 7 - 9 pofe). | 10 - 50 pos. =
16 8 10 016,018 M8, M10 it Pri
20 10 11 8 2 . 4 i Lo 020, 022 M12 Part Number MxPitch Set Screw Screw Type UnitiErice
25 125 14 & 025, 028 M15, M17 b lc ENCM BNSCC BNCMS) BNEM BNBSC BNBMS
30 15 3 2 2.3 5 20 136 030' 032 Mﬁo Type M |Coarse| Fine (€)| F|B| b |Mie1)|F1/B1|b1|M2| X | Y Y4 d | R |BNSC BNSCS| BNBS BNBSS
34 17 19 6 28 160 034, 038 M25 *5 | M5x08 | M5x05 | 9 -
MFK a5 | 25 | o4 | 25 | 25 7 3% | 19 | 045048 | M3 Coasesaasoon g wenio o075 [10] |20 7o lsims| "L [T T S I
52 26 275 o 65 Al 208 052, 055 M35 BNCMS
58 29 32.5 3 % 239 058,065 | M40, M45 Comse 8 | M8x1.25| M8x1.0 |13| [21.919 27.7)24 13! 9 lma | 7| 4 7 (89 45375
65 | 35 | % | 35 85 065,070 | W45, M50 (Coarse Sete) [10 | wrocts [ mox1 0 [ 16| [25.4 22 0 31227 9 7 ()"
0 EE S s s L , , BNBMS  [12|mix.75 mzx10]17| 7.7 24 346(30 | 16|12|M5/95(4.5| 9 (11)[5.5]45
(®For orders larger than indicated quantity, please request a quotation. N 0.2
ordering |Part Number (Fne Set Sorew) 1 45] - | M150.0 6 |M4 9.5 (11)
rdering - Use a wrench matching the diameter of the nut. BNSC 16| M16x2.0 21 31.2 27 1 41.6/ 36 125 5 9.5 (12
Example MFK25 Exampl + Do not hit the stem with a hammer, etc. BNSCC Xe - 5 ( )
ample . po notinserta ipe when using. BNSCS o0 [ mooxe5 [ M20x10] 26| [37.0 32 47.3 41|19 1516.5[12 (15
(Fine Screw) 14 |M6 7 |55
— BNBS  |24[msa0| -
— BNBSC 25 - W25¢1 5 33 47.3 41|13 | 8 |[M5[53.1| 46 17 (7.5 15
= BNB -
SS 30| M30x3.5 | M30x1.5 | 39 {0.5(57.7/ 50 | 16 | 10 | M6 57.7 50 | 20 19.5/8.5/ 18

Example BNR12
BNSC12



